
PERTRONIC INDUSTRIES LTD 

INSTALLATION NOTE 
External Speaker Housing 
 
 

© Pertronic Industries Pty Limited                               1                                                                       External Speaker Housing 
 

 

 

Overview 

The Pertronic External Speaker Housing is a perforated steel enclosure designed to 

discourage theft of horn speakers. The housing has a sloping top surface, can accept horn 

speakers up to a diameter of c. 200 mm, such as the Pertronic C2048 and BCS-HS10E, and 

is suitable for mounting on vertical surfaces. 

Specifications  

 Dimensions: 470 mm H x 255 mm W x 290 mm D 

 Weight: 5.80 kg 

 Powder coated Apo Grey (915 32786) with pre-treatment for 
exterior use 

 Constructed from 1.2 mm electro zinc coated steel (Zintec) 

 
Installation Requirements: 
 

Pertronic Supplied 

 Perforated, sloping steel enclosure housing  

 Wall mounting bracket 

 6 off M6 security screws 
 

 

 
 

Installer Supplied 

 6 off M8 Tek screws or expanding bolts as appropriate. 

 

Installation: 

1. Unpack and separate the wall mounting bracket from the enclosure housing. 
2. Locate a strong structural part of the building 

wall where the horn speaker is to be 
mounted 

3. Use four M8 screws/bolts to attach the 
mounting bracket to the structural part of the 
building. The screws/bolts should pass 
through the holes provided in the bracket not 
the slots. 

4. Use two M8 Tek screws/bolts to attach the 
horn speaker to the wall mounting bracket.  
These screws/bolts must pass through the 
slots and then screw in to the structural part 
of the building. 
 

 
 



PERTRONIC INDUSTRIES LTD 

INSTALLATION NOTE 
External Speaker Housing 
 
 

© Pertronic Industries Pty Limited                               2                                                                       External Speaker Housing 
 

Note:   
1. If the horn is to be pointing 

downwards, the top of the bracket 
slots should align with the 
structural section of the building. 

 
 

 
2. If the horn is horizontal, the bottom 

of the slots should align with the 
structural section of the building. 

 

 
5. Fix the enclosure cover over the mounting bracket using the six M6 security screws 

provided. 

 

 

Order Code: 

 

 

 

 

 

 

 

 

Product Order Code 

External Speaker Housing EXTSPKRHOUS 


